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2008-09 State Competition

Match #4


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
This word goes between Actors’ and Association to name a labor union. For marketers, it describes the value a brand has over a generic. As a general term, it describes an investment in stock. For general economics, it is the measure of the ‘fairness’ of a proposed tax or social welfare plan. What word, for homeowners, describes a property’s market value minus any outstanding debts? 

ANSWER: equity
2.
Discovered by W. H. Wollaston in 1803, its electronegativity is 2.2 and its oxidation numbers are plus 2 and plus 4.  It can be used to separate hydrogen gas from other gases due to its ability to adsorb hydrogen on one side and release the hydrogen on its other side.  Its average atomic mass is 106.4.  Name this Group 8B transition metal with atomic number 46 and chemical symbol Pd. 

ANSWER: palladium
3.
While in the minor leagues, this player earned MVP awards in both the Florida State and Eastern leagues in 2002 and 2003. After Jim Thome's trade to the Chicago White Sox, he hit 22 home runs and won the NL Rookie of the Year award.  The following year, he hit the first shot to Ashburn Alley, the same year he broke the record for most home runs in his first 1,000 at-bats, and won that year's Home Run Derby during his first All-Star game.  What first baseman's 58 home runs helped earn the 2006 NL MVP award and a World Series ring in 2008 while with the Philadelphia Phillies?

ANSWER: Ryan Howard
4.
Supporting characters in this novel include the villainous Alfred Jingle, the spinster Rachael, and Mrs. Bardell, who sues the title character for breach of promise. Other members of its namesake club are Nathaniel Winkle, Augustus Snodgrass, and Tracy Tupman. The book’s serials became best sellers with the chapter 10 appearance of the title character’s valet, Sam Weller. What was this first novel by Charles Dickens? 

ANSWER: The Pickwick Papers
5.
This concept is expressed in the first clause of the shahadah (shah-HAH-dah), although this exact word does not appear in the Qur’an. Its direct opposite is shirk, the sin of assigning partners or equals to Allah. It expressly rejects the Christian concept of the Trinity, and believers in it consider the Trinity to be polytheism. What Islamic concept states that God is ‘one’ and ‘unique’? 

ANSWER: tawhid (TOH-heed) (prompt on an early answer of ‘monotheism’)
6.
This language was not written until the 16th century, when the Latin alphabet was introduced – books in it include the Codex Osuna and the Florentine Codex. The Pipil language was originally a dialect, and other dialects include Pochutec and Michoacán. Its most familiar grammatical rule is the absolutive case ending of –tl (spell it out) or –tli. Its ‘Classical’ form was the dialect spoken around Tenochitlan. What language was spoken in the Aztec Empire? 

ANSWER: Nahuatl or Nahua (accept Aztec before it is said in the question)
7.
This battle’s decisive attack was preceded by the victorious commander commenting, ‘One sharp blow and the war is over.’ Three weeks later, the losing powers were forced to sign the Treaty of Pressburg, which ended the Holy Roman Empire, forced the Hapsburgs to pay 40 million francs, and destroyed the Third Coalition. Known as the Battle of the Three Emperors, what battle saw a Russo-Austrian force defeated by a French army under Napoleon? 

ANSWER: Battle of Austerlitz 
8.
The first known usage of this term dates from a 1966 article discussing heavy seasonal traffic in Philadelphia. A "Cyber" version of it has recently been held on the following Monday, though this year's incarnation still saw a Wal-Mart worker get trampled in Long Island and a shoot-out in a Los Angeles-area Toys'R'Us that left two dead. What is this shopping-centric event celebrated the day after Thanksgiving?

ANSWER: Black Friday
9.
Discovered by Albrecht Kossel from calf thymus tissues in 1894, it was the basis for a quantum computer at Oxford in 1998.  Its chemical formula is C4H5N3O.  It can sometimes change into uracil, possibly causing mutations.  Name this pyrimidine base of DNA and RNA that binds to guanine and is abbreviated C.

ANSWER: cytosine
10.
Its end is marked by the Kellwasser and Hangenberg events that marked mass marine extinctions.  Taking place from 416 to 359 million years ago, it saw the spread of tetrapods and seed-bearing plants.  Name this geologic period of the Paleozoic era between the Silurian and Carboniferous named after a county in England.

ANSWER: Devonian
11.
In his The Concept of Anxiety, this philosopher is often credited with creating the concept of a leap of faith. Pseudonyms he used included Constantin Constantius and ‘Young Man,’ both used in Repetition, and Anti-Climacus, used to write Practice in Christianity and The Sickness Unto Death. Often called the ‘Father of Existentialism,’ he often criticized what he saw as the empty formality of the Danish People’s Church. What philosopher contrasted hedonism with duty in Either/Or? 
ANSWER: Soren Kierkegaard
12.
First introduced in 1822, and more common than the Brinell, Rockwell, or Vickers scales, it was revised in 1933 to include synthetic compounds.  This scale uses a sclerometer to take measurements.  The property defined by this scale is essentially a material's localized resistance to plastic deformation.  A non-linear, relative scale, it is based on 10 index samples, including calcite and gypsum.  This is what scale, named for an Austrian geologist, that uses scratch tests to rate the hardness of minerals?

ANSWER: Mohs (Do not accept "Moh")

13.
Its potential death toll was reduced when John Rabe, a Siemens executive, established a ‘Safety Zone’ on the western side of the affected city. Over 80,000 women were raped, and most credible estimates state 250,000 people were killed. Shintaro Ishihara, the governor of Tokyo, has called it a ‘story made up by the Chinese.’ What atrocity occurred after the Japanese captured the affected city, and lasted between December 1937 and February 1938? 

ANSWER: Rape of Nanking (or Nanjing) or Nanking/Nanjing Massacre (accept clear-knowledge equivalents)
14.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the midpoint of (3, 9, -15) and (17, -5, -11), given that the midpoint is equal to the averages of the coordinates?

ANSWER: (10, 2, -13)
15.
A mathematician uses this seven-letter word to describe casting the image of a figure onto another surface. A psychologist uses it to describe the attribution of one’s own feelings onto others. Its Latin origin is a word that means ‘to extend out.’ As a verb, this it is pronounced with a long ‘o’ and can mean to make a prediction, or to speak loudly enough to be heard at a distance. As a noun, what word uses a short ‘o’ and refers to a task or tasks? 

ANSWER: project
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What lower part of the brainstem controls respiration and heart rate?

ANSWER: medulla oblongata

1B.
In the 7th century, Saint Columba was visiting the land of the Picts and became the first person to view what ‘water beast’? 

ANSWER: Loch Ness Monster
2A.
In August 1965, six days of race-related rioting broke out in what suburb of Los Angeles? 

ANSWER: Watts Riots

2B.
Cytokinesis often occurs during what fourth and final phase of mitosis?

ANSWER: telophase
3A.
What seven-letter word comes from the Latin word for ‘interpretation’ and means to remark on something, or to provide a quote for the press? 

ANSWER: comment
3B.
The Casbah and the Kouba are neighborhoods in what North African capital? 

ANSWER: Algiers
4A.
What social-networking site was used by a mom from Missouri to bully and allegedly cause the suicide of 13-year-old Megan Meier in 2008?

ANSWER: MySpace
4B.
John Alden is the rival for Priscilla Mullens’ affections in what epic poem by Henry Wadsworth Longfellow? 

ANSWER: The Courtship of Miles Standish
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION. A trapezoid has an area of 57 square inches and a height of 6 inches. If one base is three inches longer than the other, what is the length of the shorter base? 


ANSWER: eight
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the greatest common factor of 150, 210, and 660?

ANSWER: 30
6A.
What is the more common name of the Piano Sonata No. 14 by Ludwig van Beethoven? 

ANSWER: ‘Moonlight Sonata’
6B.
In Old English, while thou was used to address one person, what word was used to address more than one person? 
ANSWER: ye
7A.
What illegitimate son of King Arthur was the traitorous knight of the Round Table that killed King Arthur at the battle of Camlann? 
ANSWER: Mordred or Modred
7B.
What is the pH of a neutral substance?

ANSWER: seven
8A.
The Uraniborg was the observatory of what Danish astronomer famous for his prosthetic nose? 

ANSWER: Tycho Brahe
8B.
The Valley of Dry Bones is one of the miracles in what Old Testament book that begins, ‘In the thirtieth year’? 

ANSWER: book of Ezekiel
9A.
The regulation of commercial space transport is under the purview of what federal agency that also issues pilot certificates? 

ANSWER: Federal Aviation Administration or FAA
9B.
Genghis Khan was originally thought to be what legendary Christian king located among the Muslims and pagans of the Near East and Far East? 

ANSWER: Prester John (or Presbyter John)
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Simplifying radicals, what is the Cartesian equivalent of the polar coordinates (5, theta), where theta is the angle whose sine is 1/5? 

ANSWER: (2 square roots of 6, 1)
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the remainder when 15517 is divided by 11?

ANSWER: seven
Third period, 15 toss-ups, 10 points each

1.
Although some of its leaders engaged in the Haldimand Negotiations with Great Britain, its coins did contain a Latin inscription that meant ‘the fourteenth star.’ Thomas Chittenden was its governor for most of its fourteen-year existence. It appointed ambassadors to Paris, Amsterdam, and Philadelphia, using William Samuel Johnson as an unofficial representative in the Continental Congress. What country’s independence ended in 1791 when it became the fourteenth state? 

ANSWER: Republic of Vermont
2.
They originally generated short character strings beginning with an ‘escape’ character. The Commodore 128 had only eight of them, while early Macintosh computers duplicated their functionality with the ‘Command-Shift-number’ keystroke combination. ‘1’ usually accesses the help screen, ‘5’ refreshes the current window, and alt plus ‘4’ closed the current window. What are these keys located on top of a computer keyboard? 

ANSWER: function keys or F-keys

3.
A cast member from season eight portrayed Hutch in National Lampoon's Van Wilder.  Some cast members appeared on a spinoff series also created by Jonathan Murray and Mary-Ellis Bunim, where they compete against another series whose cast members spent time in a Winnebago. The third season included the death of Pedro Zamora, as well as conflicts with Puck, bringing attention to the AIDS epidemic while the cast lived in a house in San Francisco.  What MTV series groups seven people together to find out what happens when people stop being nice?

ANSWER: The Real World
4.
This battle started when ‘Deaf’ Smith declared Vince’s Bridge had been burned, cutting off retreat. The Treaty of Velasco resulted from this battle, although the losing government repudiated the treaty signed by a prisoner-of-war president. The losing side’s failure to post pickets while taking a siesta proved decisive. ‘Remember the Alamo’ and ‘Remember Goliad’ were the battle cries at what battle where Santa Anna was captured, thereby ensuring Texan independence? 

ANSWER: Battle of San Jacinto
5.
According to an unauthorized prequel, her birth name was Antoinette Cosway. Her brother Richard prevented her husband from committing bigamy. Her ‘keeper,’ Grace Poole, occasionally let her escape. Jean Rhys claimed her madness resulted from her husband’s rejection of her Creole heritage in her fictional auto-biography, Wide Sargasso Sea. What insane woman burns down Thornfield Manor in an attempt to kill her husband, Edward Rochester, at the end of Jane Eyre? 
ANSWER: Bertha Mason (accept Bertha Rochester or Mrs. Rochester)

6.
His 1990 memoir, Darkness Visible: A Memoir of Madness, chronicled his depression. This co-founder of the Paris Review used his time in Europe as inspiration for the novel Set This House on Fire. He wrote about the Loftis family in his first novel, Lie Down in Darkness. He won a Pulitzer Prize for Fiction for The Confessions of Nat Turner. What Virginia-born writer wrote about a non-Jewish Holocaust victim in Sophie’s Choice?
ANSWER: William Styron
7.
He dies of a heart attack in 1990 after winning a one-on-one basketball game. He became rich after inheriting his father-in-law’s Toyota dealership, becoming a major figure in Brewer, Pennsylvania. He had an affair with part-time prostitute Ruth Leonard. He had a son, Nelson, and a daughter, Rebecca, although his wife Janice accidentally drowned Rebecca in the first of the four novels featuring him. Harold Angstrom is the real name of what character that appeared in five works by John Updike? 

ANSWER: Rabbit (accept Harold Angstrom before said in the question)
8.
This painting cherry tree is bearing fruit, indicating a summertime setting. Oranges sit on the windowsill and a pair of shoes lies on the floor in the lower left of the canvas. A mirror on the back wall shows two men are also in the room, one of whom is the artist. A small dog stands between the two main figures. The woman in it is believed to be Constanza Trenta, who died a year before it was made. What Jan van Eyck painting features Giovanni holding hands with his wife? 

ANSWER: The Arnolfini Portrait (accept Wedding or Marriage in stead of Portrait, and be generous in accepting answers with ‘Arnolfini’)
9.
It is used in the ideal gas law when number of molecules is used instead of moles.  In Planck units, it is equal to one.  With the same units as entropy, it is equal to the gas constant divided by Avogadro’s number and is represented by k.  Name this constant named after an Austrian physicist that is equal to 1.38 times 10 to the minus 23 joules per Kelvin.

ANSWER: Boltzmann constant

10.
It allowed for swift passage through the Pontine Marshes, enabling its builders to win the Second Samnite War. A parallel canal was constructed by Marcus Cornelius Cathegus, and a shortcut was built by Trajan. It was named for a man that was consul twice, in 307 BC and 296 BC, and was noted for his building of public works. The city of Brindisi was connected to Rome by what ‘queen of the long roads’?

ANSWER: Appian Way or Via Appia
11.
According to Euler’s identity, it is equal to e to the i pi power.  Along with one and zero, it is the third possible value of the Mobius function.  Taking a number to this power produces a reciprocal.  Name this negative integer that is the additive inverse of the smallest positive integer.

ANSWER: negative one
12.
This book’s title character begins as an apprentice to Ephraim Lapham, serving alongside Dusty and Dove. The title character later works with Rab Silsbee, delivering the Boston Observer. Historical figures that appear include John Hancock, Paul Revere, and Joseph Warren, who discovers the title character’s palm and thumb are only fused together with scar tissue. What is this Newbery Medal-winning novel Esther Forbes set during the Revolutionary War? 

ANSWER: Johnny Tremain
13.
After two years of renovations, it re-opened in 2004 in time for its traditional opening on Saint Ambrose’s Day. People performing here must survive the often brutal criticism of the loggionisti. Recently, disagreements between Carol Fontana and Riccardo Muti have led to staff work stoppages. It opened in 1778 after the burning down of the Royal Ducal Theater. Prima productions staged here include Norma, Falstaff, Turandot, and Madama Butterfly. What is this opera house in Milan? 

ANSWER: Teatro alla Scala or La Scala
14.
Never before observed in Antarctica, scientists recently discovered these formations in the Rutford Ice Stream.  In the United States, most of them appeared during the Wisconsian Episode, in locations such as the Connecticut River Valley.  One therory posts that they are formed by by a release of water underneath the glacial ice.  Thought to be waveforms, they are often described as whale-shaped.  These are what landforms, elongated hills composed of glacial till or drift?

ANSWER: drumlin
15.
Companies headquartered in this city include Prudential Financial and Net2Phone. Its Lincoln Park neighborhood is being redeveloped in a ‘Renaissance’ along with its downtown, leading to a population increase to stem 60 years of decline. In 1975, Harper’s Magazine called it ‘the worst city of all,’ ranking dead last among the nation’s fifty largest cities. It is the home of the Prudential Center, Penn Station, and the New Jersey Performing Arts Center. What is the largest city in New Jersey? 

ANSWER: Newark, New Jersey

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This book’s author declared that ‘it will keep the professors busy for centuries arguing over what I meant.’ Its protagonist has an encounter with Gerty MacDowell while the protagonist’s wife begins an affair with ‘Blazes’ Boylan. Its 18 ‘episodes’ take their titles from Greek mythology. Its final episode contains only three punctuation marks, and is a stream of consciousness thought by the protagonist’s wife, Molly. Set on July 16, 1904, Leopold Bloom is the main character in what novel by James Joyce?  

ANSWER: Ulysses
2.
He was the only President to have been Governor-General of the Philippines. He and John F. Kennedy are the only Presidents buried at Arlington National Cemetery. He was the last President to have facial hair, and was the only incumbent President to finish third in his re-election race. The only man to be both President and Chief Justice of the Supreme Court was what President that served after Teddy Roosevelt? 

ANSWER: William H. Taft
3.
When married to Ludlow Smith, she insisted he change his name to S. Ogden Ludlow. She was initially cast as Scarlett O’Hara in Gone with the Wind until Vivien Leigh auditioned. She made a comeback in The Philadelphia Story, receiving one of her eight unsuccessful Oscar nominations. She won her Best Actress Oscars for Morning Glory, The Lion in Winter, On Golden Pond and Guess Who’s Coming to Dinner. While filming Woman of the Year, what actress met her longtime partner Spencer Tracy? 
ANSWER: Katharine Hepburn
4.
Represented by U, it can be calculated by the Kapustinskii equation or through the Born-Haber cycle.  It is inversely related to bond distance and for sodium chloride is equal to 788 kilojoules per mole.  Name this term for the energy needed to completely separate one mole of a solid ionic compound into gaseous ions.

ANSWER: lattice energy

5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the positive fourth root of 14,641, given that the positive square root of 14,641 is 121?

ANSWER: 11
All questions ©2008 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

